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m2 0.4 1, 390 556
77wy rEEER R T (D) (RS e
B T M X))
= 1 30, 678
SRR G 3y )-MEEERR 15emll T
m 17 1,467 24, 939
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HOflf =%

THEX Sy« TH - FERI - HH50 MoK T B B G AT & G| T E (A5
Ah=nyky )" 7 vy S t=6cm L5y
m2 0.1 1,862 186
BEERT ny )i SRR my) 300X 300 t=6em A
il
m2 2 1,945 3, 890
REERT ny i SRR mys 300X 300 t=6cm LGy
m2 0.7 2,376 1,663
77wy PSR R T (KR RUK T
HiX)
= 1 13, 164
SRR O 3y )-MEEERR 15emll T
m 7 1,467 10, 269
BEERT ny i SRR my) 300X 300 t=6cm A
il
m2 1 1,945 1,945
LS VARDYE (& SEHRT my7 300X 300 t=6em QLgy
m2 0.4 2,376 950
77wy rEREERR R T () (RUAEEL
HT 25 11 X))
= 1 8, 307
SRR G 3y )-MEEERR 15emll T
m 5 1,467 7,335
BEERT ny )i SRR my) 300X 300 t=6em FEF)
il
m2 0.5 1,945 972
7" wy rEREERR R T () (RUAGEL
W] B - X))
= 1 6,518
SRR G 3y )-MEEERR 15emll T
m 3 1,467 4,401
BEERT ny s i SRR my) 300X 300 t=6em A
il
m2 0.6 1,945 1, 167
REERT ny iR SRR mys 300X 300 t=6cm L4y
m2 0.4 2,376 950

- 19 - E Lozl s A R




HOflf =%

THEX Sy« TH - FERI - HH50 MoK T B B G AT & G| T E (A5
7"y p B LERT R T () (R2ATAE B
LEH R BT HL )
= 1 34, 253
BEERT ny )i SRR my) 300X 300 t=6em A
il
m2 8 1,945 15, 560
BEERT ny K SRR mys 300X 300 t=6cm LGy
m2 0.5 2,376 1,188
E Y VAEDYE (SN R EETHE 7 vy) 300X 300
t=6cm T
m2 9 1,945 17, 505
A E L KR (RLSPIEE =T
HiX)
= 1 21, 700
HREHEBL R ny )i W5y
m 20 1,085 21, 700
A E LK) RIRTFFHHLX)
= 1 8, 680
HREHEBIR T ny )i W5y
m 8 1,085 8, 630
fxA T T R (RUAE LITT R
HiX)
= 1 18, 445
REHEBIR T ny )i W5y
m 17 1,085 18, 445
A E T () (ROFEJFHLX)
= 1 144, 672
AR ER 52 J560cmEL F90emA
ZN 2 72, 336 144, 672
TR T (R (R} 7E 5 b
X)
= 1 398
eI vy -k (R
m3 0. 02 10, 380 207
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T (GEEM)
ALy v -k (R

m3 0. 02 9, 557 191
TEMRALER T (RUYE) A5 X))

= 1 208
Prau kil v -k (JER%)

m3 0. 02 5, 785 115
ALy vy - gk (JER%)

m3 0. 02 4,674 93
TR T (R (RSB = my
HiX)

= 1 12, 384
Prau kil TAT7 Wbk (BRI

m3 0.2 5, 750 1, 150
Prau kil vy -k (TR

m3 0.7 5, 766 4,036
ALy TA77 Wbk (BRI

m3 0.2 2,549 509
ALy vy -k (TR

m3 0.7 9, 557 6, 689
TR T () (RUR T HL )

= 1 2,717
Prau kil vy -k (R

m3 0.2 4,033 806
ALy av)) =gk (JER)

m3 0.2 9, 557 1,911
TR T (R (RLACHEN LT 2%
HiX)

= 1 37, 099
Prau kil TAT7 bk (BRI

m3 3 5, 750 17, 250
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T (GEEM)
eI v -k (R
m3 0.9 5, 766 5, 189
ALy TAT 7 bk (BRI
m3 3 2,337 7,011
ALy v -k (JER%)
m3 0.9 8,499 7,649
TR T (R (RLCHEN LT
HHi[X)
= 1 318
Prau kil vy - gk (TR
m3 0. 02 7,493 149
ALy vy - gk (TR
m3 0. 02 8,499 169
TR T () (R2ATRFLEH R
BT b X))
= 1 458
Prau kil vy -k (TR
m3 0.03 5, 766 172
ALy vy -k (TR
m3 0.03 9, 557 286
TEHRALER T (ROFERJF 1 X))
= 1 2,982
RERA LSy i
t 0.2 904 180
RERA LSy Girs
t 0.1 16, 275 1,627
RERA LSy (53 3
t 0.1 11, 754 1,175
% T
= 1 5, 893, 980
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T E (A5
AT (WD) RLULEKE
X)
= 1 167, 600
ZRFE AR B
= 1 167, 600
RIME BT () (RLILR P 7 1
X)
= 1 419, 000
ZRFE AR B
= 1 419, 000
AR BT (R1YE )1 45 i Hi )
= 1 223, 504
ZRFE AR B
= 1 223, 504
RIWEB T (W) RSB = AT
HiX)
= 1 1,173, 200
ZRFE AR B
= 1 1,173, 200
RIWE BT () RLK T/ X))
= 1 419, 000
AR RFE AR B
= 1 419, 000
ARIMAE BT () (RLAHEN LT 2R
HiX)
= 1 586, 600
AR B
= 1 586, 600
WA BT () (RUASENLIRT H
HHh[X)
= 1 419, 000
ZRRFE AR B
= 1 419, 000
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T E (A5
RIEE BT () R24T AT )\ 55
X))
= 1 83, 800
ZRFE AR B
= 1 83, 800
WA BT (W) R4 HATE+
ZRHh[X)
= 1 167, 600
ZRFE AR B
= 1 167, 600
RIWE BT (W) R2AEFLEHE
BT b X))
= 1 251, 400
ZRFE AR B
= 1 251, 400
RIWE BT (W) (R24#81 A /&t X
)
= 1 335, 200
ZRFE AR B
= 1 335, 200
AZ @ PR T (RIS T A M1 X)
= 1 55, 876
AR RFE AR B
= 1 55, 876
RIME BT () (ROFERJFUHX)
= 1 167, 600
AR B
= 1 167, 600
RIWEB T (W) RO/ Plhh
X)
= 1 251, 400
ZRRFE AR B
= 1 251, 400
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HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
WA BT () (ROFEMT BT 55 e
X)
= 1 83, 800
ZRFE AR B
= 1 83, 800
RIWE BT () (RITLAH: S5
AT Hi X))
= 1 167, 600
ZRFE AR B
= 1 167, 600
RIWEB T (W) R171 LAEEr 2
FH Hh [X)
= 1 335, 200
ZRFE AR B
= 1 335, 200
WA T (W) (RAT8 FAEET
TR M X))
= 1 419, 000
ZRFE AR B
= 1 419, 000
RImE BT (W) RAT8ATEAIN
= 1 X))
= 1 167, 600
AR RFE AR B
= 1 167, 600
B T HE
= 1 34, 113, 078
B ST ¢
= 1 4,792, 387
BTl TE:
= 1 227, 984
TR
= 1 138, 650
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
R A Y
= 1 138, 650
Htre m
= 1 89, 334
B i R FEARTT ARG
= 1 53, 166
AR [ETE I AR ART T A ARk
e
= 1 36, 168
HimE R (FE L)
= 1 4, 564, 403
Wi
= 1 38, 905, 465
BTk X=giiv oy
= 1 18, 643, 709
R 5]
= 1 57, 549, 174
— e
= 1 10, 410, 532
W ZRER
= 1 63, 294
T HAlik
= 1 68, 023, 000
THE B 2 %8
= 1 6, 802, 300
TG
= 1 74, 825, 300
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